

Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director Barbara Jo Crea
Deputy Director Gary Quinn
Commissioner Virginia E. Haines
Commissioner John P. Kelly
Commissioner Frank Sadeghi

101 Hooper Avenue Toms River, New Jersey 08754-2191 (732)929-2005 (732)505-1918

Board Meeting Agenda

Date: December 4, 2024 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding Contracts for the furnishing and delivery of EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT to Best Line Leasing, Inc. dba Field-Tec Services; Cleveland Brothers Equipment Company; H.A. DeHart & Son, Inc.; Hoffman International, Inc.; and Sea Machine MFG., LLC, the lowest qualified bidders. No bids were received on Item Nos. 1, 2, 3 and 4. Recommendation is made to reject Item Nos. 5, 6, 7, 8, 9, 10, 11, 12 and 13 as unresponsive. All no bid and rejected items will ...

Official Resoluti	on#	‡	2	202	400	181	13	
Meeting Date			1	2/0)4/2	024	1	
Introduced Date			1	2/0)4/2	024	1	
Adopted Date		1	2/0)4/2	024	1		
Agenda Item			k	(-2				
CAF#			Γ					
Purchase Req. #			E	320	24-	171		
Result			A	∖do	pte	d		
COUNTY COMMISSIONER	PRES.	ABS.		MOVE	SEC	AYE	NAY	ABST.
Crea	~					~		
Quinn	~					~		
Haines	~			~		~		
Kelly	~				~	~		
Sadeghi	~					~		

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

Clerk Of The Board

CONTRACT NO. MUST BE ON PAPERS, DOCUMENTS, INVOICES, V B2024-171

RESOLUTION

December 4, 2024

WHEREAS, on October 8, 2024, pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT County of Ocean, State of New Jersey; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

Best Line Leasing, Inc., dba Field-Tec Services 515 S. Bolmar Street West Chester, PA 19382 (610) 216-3608

H. A. DeHart & Son, Inc. 311 Crown Point Road Thorofare, NJ 08086 (856) 845-2800

Sea Machine MFG., LLC 915 Route 9-Unit 1 Bayville, NJ 08721 (732) 965-7170

Komptech Americas, LLC 6345 Downing Street Denver, CO 80216 (720) 229-5426

Name and Address of Bidder

Cleveland Brothers Equipment Company 190 Cleveland Brothers Road Watsontown, PA 17772 (570) 538-3713 Ext: 5032

Hoffman International, Inc. 300 S. Randolphville Road Piscataway, NJ 08854 (732) 752-3600 Ext: 351

Gerhart Systems and Controls Corp 300 Bushkill Street Tatamy, PA 18085 (610) 264-2800

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bidders, according to specifications, in each instance, be accepted, namely that of BEST LINE LEASING, INC., DBA FIELD-TEC SERVICES; CLEVELAND BROTHERS EQUIPMENT COMPANY; H. A. DEHART & SON, INC.; HOFFMAN INTERNATIONAL, INC.; and SEA MACHINE MFG., LLC.

Recommendation is made to reject items 5, 6, 7, 8, 9, 10, 11, 12 and 13 as unresponsive. No bids were received on items 1, 2, 3 and 4. All rejected and no bid items will be rebid. Items 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31, 32, 33, 34, 35, 36, 37, 38, 39, 40, 41, 42 and 43 will be rebid to obtain additional vendors.

Introduced on Adopted on: Official Resolution#: 2024001813

December 4, 2024 December 4, 2024

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY, as follows:

1. The Director and Clerk of this Board are hereby authorized and directed to enter into contracts for the furnishing and delivery of Equipment Parts, Repairs and Maintenance for Solid Waste Management for the County of Ocean; for the contract period from date of award through December 3, 2026, a period of two (2) years or until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15.

A. <u>BEST LINE LEASING, INC.</u>, <u>DBA FIELD-TEC SERVICES</u> for five (5) items, to wit:

<u>ITEM NOS.</u> 19, 35, 41, 42 and 43.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

B. <u>CLEVELAND BROTHERS EQUIPMENT COMPANY</u> for three (3) items, to wit: ITEM NOS. 14, 15 and 16.

For a Total Lump Sum Award Section 3 (Item Nos. 14 - 16) of \$84,988.96.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

C. H. A. DEHART & SON, INC., for thirteen (13) items, to wit:

ITEM NOS. 17, 18, 21, 24, 26, 33, 34, 38, 39, 40, 41, 42 and 43.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

D. <u>HOFFMAN INTERNATIONAL</u>, INC., for three (3) items, to wit: ITEM NOS. 14, 15 and 16.

Tor a Total Lump Sum Award of Section 3 (Item Nos. 14 - 16) of \$155,500.00. This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

E. <u>SEA MACHINE MFG., LLC,</u> for twenty-seven (27) items, to wit:

<u>ITEM NOS.</u> 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31, 32, 33, 34, 35, 36, 37, 38, 39, 40, 41, 42 and 43.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

- 2. Payments for the equipment and supplies to be acquired by this contract shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. Funds for these services shall be available within the following funding sources: Solid Waste Management O.E.

Introduced on Adopted on: Official Resolution#: 2024001813

December 4, 2024 December 4, 2024

PAGE 3

DECEMBER 4, 2024

4. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2024-171.

BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, Department of Purchasing, Department of Finance, Solid Waste Management, and the successful bidders.

Introduced on:

December 4, 2024 Adopted on: December 4, 2024
Official Resolution#: 2024001813

[BEST LINE LEASING, INC.] RESPONSE DOCUMENT REPORT BID No. TBD

EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
15	Morbark Grinder Repair Service - Hourly Rate	50	HR	\$350.00	\$17,500.00	161	
DISCOUNT	ON PARTS FOR MORBARK GRINDERS						
16	Morbark Grinders - Percentage of Discount Offered (NOT LESS THAN) - Assume \$5,000 for Two (2) Years. Enter Discount in COMMENTS, Enter Calculated Result in UNIT COST. Example: 10% X \$50,000 = 5,000, OR .10 X \$50,000 is \$5,000. THEN \$50,000 - \$5,000 = \$45,000. You would enter the discount in the Comments and the calculated total in the UNIT COST.	1	HR	\$0.00	\$0.00		No discount will be given on Morbark parts will be sold at list price
TOTAL		·			\$20,300.00		<u> </u>

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
	17	Big Tex Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
	18	Donovan Tarp Systems - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
1	19	Dynapak - Repair Service - Hourly Labor Rate	75	HR	\$350.00	\$26,250.00		
	20	Elgin Sweeper - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	- "
	21	Elliot Water Tanker - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
	22	ESD Washwater Recycling System - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	х	
	23	John Deere - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	×	
	24	Globe Low Boy Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	

[BEST LINE LEASING, INC.] RESPONSE DOCUMENT REPORT Bid No. TBD

EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line Iter	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
25	Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
26	Hiab Crane - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	. X	
27	Igloos/Fibrex - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
28	J&J Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
29	Komptech Equipment - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	, x	
30	MAC Walking Floor Trailers - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	х	
31	McCloskey Screen Equipment - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
32	Rogers Low Boy Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
33	RS Body Co/International Truck Dump Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
34	Russe Water Tannker/Roll-Off Truck - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	-
35	Scarab Windrow Turner - Repair Service - Hourly Labor Rate	75	HR	\$350.00	\$26,250.00	-	
36	Speedaire (Air Compressor) - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
37	Stoltzfus Spreader (Wet Line Spreader) - Repair Service - Hourly Labor Rate	-	HR	No Bid	No Bid	Х	
38	Titan Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	×	
39	Vanguard Box Trailer - Repair Service - Hourly Labor Rate	-	HR	No Bid	No Bid	X	
SPECIALT	LABOR RATES FOR SERVICES ON ALL EQUIPMENT LISTED IN THIS BID						
40	Roll-Off Container Reconditioning/Painting - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X ,	
41	Hydraulic Services for ALL Equipment Listed in this Bid - Repair Service - Hourly Labor Rate	75	HR	\$350.00	\$26,250.00		
42	Welding Services for ALL Equipment Listed in this bid - Repair Service - Hourly Labor Rate	75	HR	\$350.00	\$26,250.00		
ided on	December 4, 2024						

Introduced on: LINE LEDECEMBER 4, 2024 PONSE DOCUMENT REPORT

Adopted on: LINE LEDECEMBER 4, 2024 PONSE DOCUMENT REPORT

Official Riesoliablim M2017004873, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

[BEST LINE LEASING, INC.] RESPONSE DOCUMENT REPORT BID No. TBD

EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line I	ltem	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
PARTS,		Parts: Percentage discount from manufacturer's suggested retail price list. For bid purposes assume parts at \$25,000.00. Calculate percentage of discount on parts by multiplying \$25,000.00 by your discount (show bid discount IN COMMENTS) Example: \$25,000.00 by 10%=\$2,500.00 or \$25,000.00 by .10= \$2,500.00. ENTER CALCULATED RESULT IN UNIT COST COLUMN: \$25,000.00-(\$25,000.00 x%)=	1	LS	\$0.00	\$0.00		There will be no discount offered on items 17-43

[CLEVELAND BROTHERS CAT] RESPONSE DOCUMENT REPORT
BIG No. TBD
EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

SECTION 2 - TRUCK SCALES AT NORTHERN AND SOUTHERN RECYCLING CENTERS

ine Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
5	Truck Scale Quarterly Maintenance Service - Four (4) Scales - Price per Quarter		QTR	No Bid	No Bid	х	
6	Annual Hydraulic Cleaning Maintenance of the Scales – Four (4) Scales - Price per Year		YR	No Bid	No Bid	х	
7	Annual Hydraulic Preventive Maintenance Program – Four (4) Scales - Price per Year		YR ·	No Bid	No Bid	Х	
8	Normal Work Hours to - Hourly Rate		HR	No Bid	No Bid	х	
9	Overtime Work Hours - Hourly Rate		HR	No Bid	No Bid	х	
10	Utility Truck, as Required - Flat Rate per Each Usage		. EA	No Bid	No Bid	х	
11	Test Truck, as Required - Flat Rate per Each Usage		EA	No Bid	No Bid	x	
12	Utility Van, as Required - Flat Rate per Each Usage		EA	No Bid	No Bid	×	
COUNT	ON PARTS FOR TRUCK SCALES			<u>-L.,</u>	<u></u>		
13	Truck Scale Parts - Percentage of Discount Offered (NOT LESS THAN) - Assume \$25,000 for Two (2) Years. Enter Discount in COMMENTS, Enter Calculated Result in UNIT COST. Example: 10% X \$25,000 = 2,500, OR .10 X \$25,000 is \$2,500. THEN \$25,000 - \$2,500 = \$22,500. You would enter the Discount in the Comments and the calculated total in the UNIT COST.	-	LS	No Bid	No Bid	X	
TOTAL					\$0.00		

SECTION 3 - MORBARK GRINDERS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
14	Morbark Grinder Quarterly Maintenance and Service of Four (4) Morbark Grinders Per Quarter, Price Per Quarter	8	HR	\$9,061.12	\$72,488.96		Note: This bid cost is for 8 Quarters.

[CLEVELAND BROTHERS CAT] RESPONSE DOCUMENT REPORT BIG No. TBD EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:	e.
1	15	Morbark Grinder Repair Service - Hourly Rate	50	HR	\$270.00	\$13,500.00			
Į	DISCOUNT	ON PARTS FOR MORBARK GRINDERS							
		Morbark Grinders - Percentage of Discount Offered (NOT LESS THAN) - Assume \$5,000 for Two (2) Years. Enter Discount in COMMENTS, Enter Calculated Result in UNIT COST. Example: 10% X \$50,000 = 5,000, OR .10 X \$50,000 is \$5,000. THEN \$50,000 - \$5,000 = \$45,000. You would enter the discount in the Comments and the calculated total in the UNIT COST.	1	HR	-\$1,000.00	-\$1,000.00		Discount will be 2% on delivered parts. Example \$50,000- 2%=\$1000.00	
	TOTAL		<u> </u>			\$84,988.96			

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
17	Big Tex Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
18	Donovan Tarp Systems - Repair Service - Hourly Labor Rate		HR .	No Bid	No Bid	Х	
19	Dynapak - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
20	Elgin Sweeper - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
21	Elliot Water Tanker - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
22	ESD Washwater Recycling System - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
23	John Deere - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	х	
24	Globe Low Boy Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	х	
. 25	Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	

[H.A. DEHART & SON, INC.] RESPONSE DOCUMENT REPORT Bid No. TBD EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:	
14	Morbark Grinder Quarterly Maintenance and Service of Four (4) Morbark Grinders Per Quarter, Price Per Quarter		HR	No Bid	No Bid	Х		v
15	Morbark Grinder Repair Service - Hourly Rate		HR	No Bid	No Bid	×		
SCOUNT	ON PARTS FOR MORBARK GRINDERS		,					
16	Morbark Grinders - Percentage of Discount Offered (NOT LESS THAN) - Assume \$5,000 for Two (2) Years. Enter Discount in COMMENTS, Enter Calculated Result in UNIT COST. Example: 10% X \$50,000 = 5,000, OR .10 X \$50,000 is \$5,000. THEN \$50,000 - \$5,000 = \$45,000. You would enter the discount in the Comments and the calculated total in the UNIT COST.		HR	No Bid	No Bid	X		
				1	\$0.00	1		

SECTION 4 - EQUIPMENT LIST FOR SOLID WASTE MANAGEMENT - ITEMS 17 - 43

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
1	17	Big Tex Trailer - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		
1	18	Donovan Tarp Systems - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		
	19	Dynapak - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
ľ	20	Elgin Sweeper - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	х	
1	21	Elliot Water Tanker - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		
ļ	22	ESD Washwater Recycling System - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
	23	John Deere - Repair Service - Hourly Labor Rate	¥	HR	No Bid	No Bid	Х	
~	24	Globe Low Boy Trailer - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		

Introduced on:

December 4, 2024

Adopted on: December 4, 2024
Official Resolution#HA0248050N, INC.] RESPONSE DOCUMENT REPORT

Bid - EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Page 8

[H.A. DEHART & SON, INC.] RESPONSE DOCUMENT REPORT Bid No. TBD EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
	25	Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
	26	Hiab Crane - Repair Service - Hourly Labor Rate	75	HR	\$184.00	\$13,800.00		
	27.	Igloos/Fibrex - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
	28	J&J Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	х	
F	29	Komptech Equipment - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
	30	MAC Walking Floor Trailers - Repair Service - Hourly Labor Rate	×	HR	No Bid	No Bid	X	
	31	McCloskey Screen Equipment - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
	32	Rogers Low Boy Trailer - Repair Service - Hourly Labor Rate	8)	HR	No Bid	No Bid	X	
V	33	RS Body Co/International Truck Dump Trailer - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		
J	34	Russe Water Tannker/Roll-Off Truck - Repair Service - Hourly Labor Rate	. 75	HR	\$184.00	\$13,800.00		
	35	Scarab Windrow Turner - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	х	
-	36	Speedaire (Air Compressor) - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
	37	Stoltzfus Spreader (Wet Line Spreader) - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
•	38	Titan Trailer - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		
J	39	Vanguard Box Trailer - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		
	SPECIALTY L	ABOR RATES FOR SERVICES ON ALL EQUIPMENT LISTED IN THIS BID		,		* .		
J	40	Roll-Off Container Reconditioning/Painting - Repair Service - Hourly Labor Rate	75	HR	\$184.00	\$13,800.00		<u> </u>
	41	Hydraulic Services for ALL Equipment Listed in this Bid - Repair Service - Hourly Labor Rate	75	HR	\$142.00	\$10,650.00		
ntroduced	42 on:	Welding Services for ALL Equipment Listed in this bid - Repair Service - Hourly Labor Rate December 4, 2024	75	HR	\$165.00	\$12,375.00		

Adopted on: Uecember 4, 2024

Official Resolution#: A024601813 INC.] RESPONSE DOCUMENT REPORT

Bid - EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

[H.A. DEHART & SON, INC.] RESPONSE DOCUMENT REPORT Bid No. TBD EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line Iter	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
PARTS/%	DISCOUNT FOR ITEMS 17 - 43						
43	Parts: Percentage discount from manufacturer's suggested retail price list. For bid purposes assume parts at \$25,000.00. Calculate percentage of discount on parts by multiplying \$25,000.00 by your discount (show bid discount IN COMMENTS) Example: \$25,000.00 by 10%=\$2,500.00 or \$25,000.00 by .10= \$2,500.00. ENTER CALCULATED RESULT IN UNIT COST COLUMN: \$25,000.00-(\$25,000.00 x%)=		LS 	\$750.00	\$750.00		3% Discount from List

[HOFFMAN INTERNATIONAL, INC.] RESPONSE DOCUMENT REPORT BID No. TBD EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
	14	Morbark Grinder Quarterly Maintenance and Service of Four (4) Morbark Grinders Per Quarter, Price Per Quarter	8	HR	\$12,000.00	\$96,000.00		\$3,000 per service, per machine (thus, four services per quarter)
4	15	Morbark Grinder Repair Service - Hourly Rate	50	HR	\$240.00	\$12,000.00		
Ī	DISCOUNT	ON PARTS FOR MORBARK GRINDERS	,			* * * * .		
/	16	Morbark Grinders - Percentage of Discount Offered (NOT LESS THAN) - Assume \$5,000 for Two (2) Years. Enter Discount in COMMENTS, Enter Calculated Result in UNIT COST. Example: $10\% \times $50,000 = 5,000$, OR .10 $\times $50,000$ is \$5,000. THEN \$50,000 - \$5,000 = \$45,000. You would enter the discount in the Comments and the calculated total in the UNIT COST.	1	HR	\$47,500.00	\$47,500.00		5%
.	TOTAL		<u> </u>	<u>. </u>	•	\$155,500.00	*	<u> </u>

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
17	Big Tex Trailer - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
18	Donovan Tarp Systems - Repair Service - Hourly Labor Rate	4	HR	No Bid	No Bid	X	, q
19	Dynapak - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	
20	Elgin Sweeper - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	Х	
21	Elliot Water Tanker - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid .	Х	
22	ESD Washwater Recycling System - Repair Service - Hourly Labor Rate		HR	No Bid	No Bid	X	

[SEA MACHINE MFG LLC] RESPONSE DOCUMENT REPORT Bid No. TBD EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:	
15	Morbark Grinder Repair Service - Hourly Rate		HR	No Bid	No Bid	х		
DISCOUNT	ON PARTS FOR MORBARK GRINDERS	*****		-			11	,
16	Morbark Grinders - Percentage of Discount Offered (NOT LESS THAN) - Assume \$5,000 for Two (2) Years. Enter Discount in COMMENTS, Enter Calculated Result in UNIT COST. Example: 10% X \$50,000 = 5,000, OR .10 X \$50,000 is \$5,000. THEN \$50,000 - \$5,000 = \$45,000. You would enter the discount in the Comments and the calculated total in the UNIT COST.		HR	No Bid	No Bid	х		
TOTAL		•			\$0.00	11	-	

17 Big Tex Trailer - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 18 Donovan Tarp Systems - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 19 Dynapak - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 20 Elgin Sweeper - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 21 Elliot Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 22 ESD Washwater Recycling System - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 23 John Deere - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 24 Globe Low Boy Trailer - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 25 Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00		Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
19 Dynapak - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 20 Eigin Sweeper - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 21 Eilliot Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 22 ESD Washwater Recycling System - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 23 John Deere - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 24 Globe Low Boy Trailer - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 25 Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00	-	17	Big Tex Trailer - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
20 Elgin Sweeper - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 21 Elliot Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 22 ESD Washwater Recycling System - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 23 John Deere - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 24 Globe Low Boy Trailer - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 25 Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00	V	18	Donovan Tarp Systems - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00	10	
21 Elliot Water Tanker - Repair Service - Hourly Labor Rate 22 ESD Washwater Recycling System - Repair Service - Hourly Labor Rate 23 John Deere - Repair Service - Hourly Labor Rate 24 Globe Low Boy Trailer - Repair Service - Hourly Labor Rate 25 Hell Trailer/Water Tanker - Repair Service - Hourly Labor Rate 26 The Service - Hourly Labor Rate 27 HR \$221.00 \$16,575.00 28 Hell Trailer/Water Tanker - Repair Service - Hourly Labor Rate 29 Hell Trailer/Water Tanker - Repair Service - Hourly Labor Rate 20 S16,575.00 21 Hell Trailer/Water Tanker - Repair Service - Hourly Labor Rate 22 Hell Trailer/Water Tanker - Repair Service - Hourly Labor Rate	V	19	Dynapak - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
22 ESD Washwater Recycling System - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 23 John Deere - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 24 Globe Low Boy Trailer - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 25 Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00	-	20	Elgin Sweeper - Repair Service - Hourly Labor Rate	75	HR '	\$221.00	\$16,575.00		0
23 John Deere - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 24 Globe Low Boy Trailer - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 25 Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00		21	Elliot Water Tanker - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00	٠	
24 Globe Low Boy Trailer - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00 25 Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00	V	22	ESD Washwater Recycling System - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00	U	
25 Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate 75 HR \$221.00 \$16,575.00	V	23	John Deere - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
	U	24	Globe Low Boy Trailer - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
26 High Crane - Renair Service - Hourly Labor Rate 75 HB \$221.00 \$16.575.00	•	25	Heil Trailer/Water Tanker - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
25 That craft Repair Screen Floating East Nate 75 This 3221.00 \$10,373.00	v	26	Hiab Crane - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
Introduced on: December 4, 2024							L	program to	

Adopted on SEA MACHER DE COMMENT REPORT
Official Resolution#: 2024001813 RESPONSE DOCUMENT REPORT
Bid - EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

[SEA MACHINE MFG LLC] RESPONSE DOCUMENT REPORT Bid No. TBD EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comme
27	Igloos/Fibrex - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
28	J&J Trailer - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
29	Komptech Equipment - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
30	MAC Walking Floor Trailers - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
31	McCloskey Screen Equipment - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
32	Rogers Low Boy Trailer - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
33	RS Body Co/International Truck Dump Trailer - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
34	Russe Water Tannker/Roll-Off Truck - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
35	Scarab Windrow Turner - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00	•	
36	Speedaire (Air Compressor) - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
37	Stoltzfus Spreader (Wet Line Spreader) - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
38	Titan Trailer - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
39	Vanguard Box Trailer - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
PECIALTY L	ABOR RATES FOR SERVICES ON ALL EQUIPMENT LISTED IN THIS BID				1	4 4	•
40	Roll-Off Container Reconditioning/Painting - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00		
41	Hydraulic Services for ALL Equipment Listed in this Bid - Repair Service - Hourly Labor Rate	. 75	HR	\$221.00	\$16,575.00		
42	Welding Services for ALL Equipment Listed in this bid - Repair Service - Hourly Labor Rate	75	HR	\$221.00	\$16,575.00	1.5	
ARTS/% DIS	SCOUNT FOR ITEMS 17 - 43	···········		·	-	L	

Introduced on:

December 4, 2024

[SEA MACHINE MFG LLC] RESPONSE DOCUMENT REPORT Bid No. TBD

EQUIPMENT PARTS, REPAIRS AND MAINTENANCE FOR SOLID WASTE MANAGEMENT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments:
	Parts: Percentage discount from manufacturer's suggested retail price list. For bid purposes assume parts at \$25,000.00. Calculate percentage of discount on parts by multiplying \$25,000.00 by your discount (show bid discount IN COMMENTS) Example: \$25,000.00 by 10%=\$2,500.00 or \$25,000.00 by .10=\$2,500.00. ENTER CALCULATED RESULT IN UNIT COST COLUMN: \$25,000.00-(\$25,000.00 x%)=	1	LS	\$22,250.00	\$22,250.00		11%